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GEOGRAPHY (Theory)
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Time allowed : 3 hours] [ Maximum marks : 70
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ÎZw�X 22 Sk6,p~®ÿ
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(i)

�»ìXZy 1 J-ÆÎZw¹gL�Z[zZá�XSy~ÐCÙZq-ÎZw 7 Ð 1 ÎZw� (ii)

ZÖpÐic*Š{:ƒX 40 ÎZßV»�Z[°ÎZw
�»ìXZyÎZßV» 3 J-ÆÎZwgL�Z[zZá�XSy~ÐCÙÎZw 13 @*8 ÎZw� (iii)

ZÖpJ-ƒYìX 100Ð 80 �Z[°ÎZw
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� Please check that this question paper contains 4 printed pages + 2 pages of maps.

� Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the candidate.

� Please check that this question paper contains 22 questions.

� Please write down the Serial Number of the question before attempting it.

� 15 minutes time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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�»ìXZyÎZßV» 5 J-ÆÎZwE�Z[zZá�XZy~ÐCÙÎZw 20 Ð 14 ÎZw� (iv)

ZÖpÐic*Š{:ƒX 150 �Z[°ÎZw
J-'Z5ðS:]ÃT+Ôûz̧qŠ3äZzgZyÆ**x™Ð0�XCÙZq- 22Ð 21 ÎZw� (v)

�»ìX 5

Æ{Æ�W\Ã6,pÆ‚BŠØ‰�ÔZ7ZK�Z!»8Æ‚B�h™zZ:ßN*** yyyyzzzz****yyyy Zzg ŠŠŠŠ**** (vi)

¢zg~ìX
ÆZEwÅZYi]ìX ]]]]444455554444hhhhÒÒÒÒðððð

HHHHGGGGEEEEVVVV &VÆ{Æ¯äÆa (vii)

ÎZwÑiò�X XXXX (viii)

½ + ½ = 1 iF̂ÜzÜÆŠzZëfgZùÒyÙX .1

1 L¢az7{àóÅ°pÒyÙX .2

½ + ½ = 1 yz*yÆÑwD†[*gzVÆR,!5ÿ
E

Z°VÆ**xÉÀŸ/õGX .3

1 yz*y~i}Æ)igZ�ZEwÆgÕ~(,SƒðÑb)Šg(ƒÐic*Š{YVì? .4

1 °œ~0*ã»ZEw„YVHY@*ì? 32 yz*y~‡.ÞZEwÒ0*ã»µnÜs .5

1 yz*y~Š¸vÃVÅÑÄ~´‡ðpYV0*c*Y@*ì? .6

1 Zq-zzÒyÙX yz*y~0*ãÅâ:~-»g~YVzZµƒðì? .7

1 + 2 = 3 ZK̈ã¸VÅŠz9ÃyÏ�?CÙZq-§bÅÂÅÃðŠzDŠzS:]ÉÀŸ/õGX .8

3 <<<< 1 = 3 ÎZŅ̃Zòˆg]Æ&¹„ZëUîVÃÒyÙX .9

3 <<<< 1 = 3 yz*y~i}ÅäÃÁ™äÆË&§hV»tg{ŠØX .10
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LLŠg]ñZµ�ÛZë™CìZzgZK̈yZy»ZEw™@*ìZzgW×W×¡]6,ZK̈ãZW,Š3ðŠ¶4 .11

3 <<<< 1 = 3 ìZzgZk6,ZK̈ãÃ@V»î¾Y@*ìXóóZk¸w»VwÆ‚B‹tÙX

ÎK1¾§bÐæ¹Zzgf!ŠzâVŠ*îVÆaˆg]ÆŠZ½ŠgzZi}»»x™Cì? .12

3 <<<< 1 = 3 oƒVßVÆfg)zŸs#ÙX

…ZLnãz‚bÆDÅ¯g~îg6,Z”¢zg]ìXóóZkÑÃ7gZ™äÆa¢zg~ LL .13

3 <<<< 1 = 3 ZŠZgÅzŸs#ÙX

1 + 4 = 5 W!*Š~ÅÑÄÆHp�?™*~W!*Š~Å„ÃOW,™äzZáeg'Z5ðúZïÒyÙX .14

 F,¹5+k,˜´~Ş̌àVZnÆ)b»‚où™g„�?Ãð0*õZë)bÒyÙX .15

5 <<<<1 = 5

5 <<<<1 = 5 yz*y~ó])Ükã(ÆÃð0*õçÙZzg�Y}òÒyÙX .16

ÜzÜHì?Š*~ÜzÜÅ}.â]Ãâ8-ZzggZ2VÆúZï¾§bOW,™D�? .17

1 + 4 = 5 VßVÆ‚BŒ�X

5Q0*Œ¾§baZzZge$ZzggziÇgÆñZµÅ0*GZgZ‚ÛZöÃ‡ìgpp~»x[g„ì? .18

5 zZãÙX

5 <<<<1 = 5 Zd)ßYÅ¾§bÐQu¤/ñV~Zq-].h+ZXŠì?VßVÆ‚BÒyÙX .19

LÜzÜyz*yÆZ´̧VÃ�häZzg)}ƒñßÍVÆŠgxyZ�Š)àq~zu]( L .20

5 <<<< 1 = 5 Ñä~¹„ZëgzwZŠZ™@*ìXóó!5é LIßVÆ‚BZk¸wÅzŸs#ÙX
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Š3ñ‰�XnŠ~ˆ¥â]Å E Zzg D ÔC ÔB ÔA ÆŠØ‰(Ï{�~0*õúc*V_i ŠŠŠŠ**** .21

5 <<<< 1 = 5 : æŠÐZ7T6XZyÆ9**xZyÆ¶K**]Æ4,Šq-Š~ˆÑ"V6,ÉÀŸ/õG
ƒÐÁW!*Š~ÅÑb%zZÑo (A)

{:$+zllZÇ„Æ´º (B)

',ZWD0*ggw}ÆWy~u}»Zø (C)

~à (D)

«g~ÈgÇ{ (E)

Æ$+á: 21 ÆaÎZw� ********ÓÓÓÓCCCCCCCCYYYY Šg`fsÎZwÜs ââââ^̂̂̂::::
Š*~ƒÐÁW!*Š~ÅÑb%zZÑoÃy‚ì? (21.1)

-g¨~ƒÐ�g{:$+zllZÇ„»´‘Ãy‚ì? (21.2)

‚$c*D0*ggw}Ææ¹u}ÆZø»**xÉÀŸ/õGX (21.3)

Zk,ZyÆ~à»**xÉÀŸ/õGX (21.4)

W7´ÅËZq-Zë«g~ÈgÇ{»**xÉÀŸ/õGX (21.5)

5 <<<< 1 = 5 ÆŠØ‰(Ï{Æ6,Šg`fsˆlÙZzgZyÆ**xÉÀŸ/õG: yyyyzzzz****yyyy .22

â¾"$ÆnW!*Š~ÅƒÐic*Š{ÑbzZÑß/ (i)

ZF,Zô~‚Åz*)ßY0*gu (ii)

»°»ƒÐic*Š{aZzZg™äzZÑß/ (iii)

·g~%™s™äzZÑZq-»g{: (iv)

(2001) yz*y»ƒÐ(,Z¢az7{à (v)

Æ$+á: 22 ÆaÎZw� ********ÓÓÓÓCCCCCCCCYYYY Šg`fsÎZwÜs ââââ^̂̂̂::::
Zkgc*„»**xÉÀŸ/õGÔ˜V8ûEL¾"$ÆnW!*Š~ÅÑbƒÐic*Š{ìX (22.1)

ZF,Zô~zZµ‚Åz*)ßY0*gu»**xÉÀŸ/õGX (22.2)

yz*y~eñÅƒÐic*Š{aZzZgzZÑß/Ãy‚ì? (22.3)

·g~zZµ%™s™äzZá»g{ä»**xÉÀŸ/õGX (22.4)

Ãy‚ì? (2001) z*y»ƒÐ(,Z¢az7{à y (22.5)
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